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�ŝ

s
<latexit sha1_base64="AgsgccHQxjT3JZgaHj7wlaZn3yU="></latexit>

I =

Z
�

2⇡✏

�

s
da

<latexit sha1_base64="qKTmBGO3bbUgV/rT7hI3AcRqg9Q="></latexit>

I =
�

2⇡✏
�

Z 2⇡

0

Ls d�

s

<latexit sha1_base64="giPgmE38cL7yHwXrFquCu1Dj9vo="></latexit>

) I =
�

✏
�L

<latexit sha1_base64="aRC2iuC8xbVeqHdTKkEgp/ZdRrA="></latexit>

�V =
�

2⇡✏
log

✓
b

a

◆



Pratique o que aprendeu      


⃗J = σ ⃗E

b

a

L

�V

<latexit sha1_base64="aRC2iuC8xbVeqHdTKkEgp/ZdRrA="></latexit>

�V =
�

2⇡✏
log

✓
b

a

◆

<latexit sha1_base64="rcrdRJFRmCHis8XdRxbVar2X8ic="></latexit>

I =
�

✏
�L



Pratique o que aprendeu      


⃗J = σ ⃗E

b

a

L

�V

<latexit sha1_base64="aRC2iuC8xbVeqHdTKkEgp/ZdRrA="></latexit>

�V =
�

2⇡✏
log

✓
b

a

◆

<latexit sha1_base64="rcrdRJFRmCHis8XdRxbVar2X8ic="></latexit>

I =
�

✏
�L

<latexit sha1_base64="I5rokArBLf9NoPrWfRD+5NPUXVw="></latexit>

R =
1

2⇡�L
log

✓
b

a

◆



Pratique o que aprendeu      


⃗J = σ ⃗E

b

a

L

�V

I = ?
<latexit sha1_base64="xrM0xDD87jVbVnY6x0L+jEDLGZo="></latexit>

) I =
�

✏0
�L

<latexit sha1_base64="0Wd+5SODPI34UJKUkeICQN4DzYQ="></latexit>

) �V =
�

2⇡✏0
log

✓
b

a

◆

<latexit sha1_base64="OsyvYSczpf8sy0wCOcVVgogphHU="></latexit>

�V =
I

2⇡�L
log

✓
b

a

◆

<latexit sha1_base64="dagJL48CcC/mxoSHuoDNQEf3VCI="></latexit>

R =
1

2⇡�L
log

✓
b

a

◆



Pratique o que aprendeu      


⃗J = σ ⃗E

b

a

L

�V
<latexit sha1_base64="dagJL48CcC/mxoSHuoDNQEf3VCI="></latexit>

R =
1

2⇡�L
log

✓
b

a

◆

<latexit sha1_base64="gTndNwJsVV4jdA9MbI6779AlA8A="></latexit>

C =
2⇡✏L

log

✓
b

a

◆



Pratique o que aprendeu      


⃗J = σ ⃗E

b

a

L

�V
<latexit sha1_base64="dagJL48CcC/mxoSHuoDNQEf3VCI="></latexit>

R =
1

2⇡�L
log

✓
b

a

◆

<latexit sha1_base64="gTndNwJsVV4jdA9MbI6779AlA8A="></latexit>

C =
2⇡✏L

log

✓
b

a

◆

<latexit sha1_base64="iUh8XQstvMdqlX0Bii3ols0WNPk="></latexit>

RC =
✏

�



Eletrodinâmica

Força eletromotriz

R1

V

R2



Eletrodinâmica

Força eletromotriz

<latexit sha1_base64="agkfeaEgfdlB3JxSVJ/Q3ltoikE="></latexit>

~f = ~fbat +
~E

R1

V

R2



Eletrodinâmica

Força eletromotriz

<latexit sha1_base64="agkfeaEgfdlB3JxSVJ/Q3ltoikE="></latexit>

~f = ~fbat +
~E

<latexit sha1_base64="DJB3H+wGcR/QpDP8r6rJSuinNkk="></latexit>I
~f · d~̀=

I
~fbat · d

~̀+

I
~E · d~̀

R1

V

R2



Eletrodinâmica

Força eletromotriz

<latexit sha1_base64="agkfeaEgfdlB3JxSVJ/Q3ltoikE="></latexit>

~f = ~fbat +
~E

<latexit sha1_base64="DJB3H+wGcR/QpDP8r6rJSuinNkk="></latexit>I
~f · d~̀=

I
~fbat · d

~̀+

I
~E · d~̀

<latexit sha1_base64="r9JzBUQHwlN76F5say1ddfrOavE="></latexit>

E =

I
~fbat · d

~̀

R1

V

R2



Eletrodinâmica

Força eletromotriz

R1

V

R2

<latexit sha1_base64="agkfeaEgfdlB3JxSVJ/Q3ltoikE="></latexit>

~f = ~fbat +
~E

<latexit sha1_base64="DJB3H+wGcR/QpDP8r6rJSuinNkk="></latexit>I
~f · d~̀=

I
~fbat · d

~̀+

I
~E · d~̀

<latexit sha1_base64="r9JzBUQHwlN76F5say1ddfrOavE="></latexit>

E =

I
~fbat · d

~̀

Dentro da bateria

<latexit sha1_base64="S+mHpl9AS/dFnaX/RXBMAFF3IEE="></latexit>

~Ebat +
~fbat ⇡ 0



Eletrodinâmica

Força eletromotriz

R1

V

R2

<latexit sha1_base64="agkfeaEgfdlB3JxSVJ/Q3ltoikE="></latexit>

~f = ~fbat +
~E

<latexit sha1_base64="DJB3H+wGcR/QpDP8r6rJSuinNkk="></latexit>I
~f · d~̀=

I
~fbat · d

~̀+

I
~E · d~̀

<latexit sha1_base64="r9JzBUQHwlN76F5say1ddfrOavE="></latexit>

E =

I
~fbat · d

~̀

Dentro da bateria

<latexit sha1_base64="FlpY2C6suVuqa6rqnDwFGbijOtg="></latexit>

E = �
I

~Ebat · d
~̀

<latexit sha1_base64="S+mHpl9AS/dFnaX/RXBMAFF3IEE="></latexit>

~Ebat +
~fbat ⇡ 0



Eletrodinâmica

Força eletromotriz

 
https://www.youtube.com/watch?v=MglUIiBy2lQ

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents
https://www.youtube.com/watch?v=MglUIiBy2lQ


Eletrodinâmica

Força eletromotriz

 

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

R
x

h
~v

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Eletrodinâmica

Força eletromotriz

 

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

R
x

h
~v

<latexit sha1_base64="b9EG7T5j4b38iYQZcPRRD1YjEMw="></latexit>

E =

Z

vert
~v ⇥ ~B · d~̀

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Eletrodinâmica

Força eletromotriz

 

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

R
x

h
~v

<latexit sha1_base64="b9EG7T5j4b38iYQZcPRRD1YjEMw="></latexit>

E =

Z

vert
~v ⇥ ~B · d~̀

<latexit sha1_base64="Kzr+MdY9SNHjxbPjiFHcXqfJJRo="></latexit>

E = vBh

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents


Eletrodinâmica

Força eletromotriz

 

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

⌦

R
x

h
~v

<latexit sha1_base64="b9EG7T5j4b38iYQZcPRRD1YjEMw="></latexit>

E =

Z

vert
~v ⇥ ~B · d~̀

<latexit sha1_base64="Kzr+MdY9SNHjxbPjiFHcXqfJJRo="></latexit>

E = vBh

<latexit sha1_base64="7Yxs271ETATZiQkLftxQiQA2dBo="></latexit>

E = �d�

dt

https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents

